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N

|t 48 o &

| & R

| e |0.005 0.025 0.050 0.100

I 63.6567 12,7062 6.3138 3.0777

Il 2 9.9248 43027 2.9200 1.8856
3 5.8409 3.1824 2.3534 1.6377
4 4.6041 2.7764 2.1318 1.5332
5 4.0321 2.5706 2.0150 1.4759
6 3.7074 2.4469 1.9432 1.4398
7 3.4995 2.3646 1.8946 1.4149
8 3.3554 2.3060 1.8595 1.3968
9 3.2498 2.2622 1.8331 1.3830
10 3.1693 2.2281 1.8125 1.3722

& F - &

p &
D 0.995 0.975 0.10 0.05 0.025
] 0.0000393 | 0.000982 | 2.706 3.841 5.024
2 0.0100 0.0506 4.605 5.991 7.378
3 0.0717 0.216 6.251 7.815 9.348
4 0.207 0.484 7.779 9.488 11.143
5 10.412 0.831 9.236 11.070 12.833
6 0.676 1.237 10.645 12.592 14.449
7 0.989 1.690 12.017 14.067 16.013
8 1.344 2.180 13.362 15.507 17.535
F 18 4% % (alpha=0.05)
df1=1 2 3 4 5

df2=26 42252 3.3690 2.9752 2.7426 2.5868
27 4.2100 3.3541 2.9604 2.7278 2.5719
28 4.1960 3.3404 2.9467 2.7141 2.5581
29 4.1830 3.3277 2.9340 27014 2.5454
30 4.1709 3.3158 2.9223 2.6896 2.5336




